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L.CM & H.C.F WORK SHEET

Find the LCM
5.8.10 smewis. 10,15
a. b0 b. 15

Find the LCM
5.8..0 smewrs. 14,42
a. 14 b. 42

Find the LCM
5.8.10 smewis. 30,40,60
a. 100 b. 80

Find the H.C.F of
15.0ur.eu e 40 & 16
a.4 b. 6

Find the H.C.F of
5.Qum.eu srewies 23 & 12
b.2




Find the GCD of 2a?2 + a,4a2 -1
15.Gum.eu smewis. 2a2 + a, 4a2 -1

a. 2a2 b. 4a2

Find the LCM of 8x*y?, 48x2y*
15.8.0 srewis. 8xty?, 48x2y4
a. 48x%y? b. 8x2y? c. 48x4y*

Find the GCD of
15.60um.eu &mewis 35x°y3z4, 49x2yz3, 14xy?z2
a. 7x2y?z? b. 7xyz c. 7xyz?

Find the GCD of
15.0um.6u smewiss 9a2b2c3, 15a3 b2 ¢4
a. 3abc b. 3a2b2c2 b. 3a3b3c3 d. 3a2b?c3

Find the LCM of 64x8, 240x°
5.86..0 smewiss 64x8, 240x6
a. 240xe b. 480x8 c. 240x38

Find the LCM of 16m, -12m?n?, 8n?
5.8.10 smewis. 16m, -12m?n?2, 8n?
a. 16m?2n2 b. 4m?2n2 c. 48m?n? d. 4m

What is the smallest number that when divided by three numbers such as
35, 56 and 91 leaves remainder 7 in each case?

35,56 oBmIb 91 &ev aUGBGID BCurgl 18H 7 M Hrbamigul 10BFFBUWI  6T6wT
oI1?

a. 3647 b. 3657 c. 3646 d. 3649

Which of the following pairs is co-prime?
LlesTou(hlD Eemeidboerle0, elemeal FTJLIST 6T6wIH6IT DLEGHLD?

a. b1, 63 b. 52,91 c.71,81 d. 81, 99

The greatest 4 digit number which is exactly divisible by 8, 9 and 12 is
8, 9 ommid 12 gdlul eTewidenTed aUGUBID WSIOUTW 4 B60Hd 6T6mT 616560 ?

a. 9999 b. 9996 c. 9696 d. 9936




Which of the following cannot be the HCF of two numbers whose LCM is
120?

120-89  18.8.10-91H5 OFTewIL  6T6WIHEHHGL  LIGToU(HD  61HEH  6T60I6mIT6IS)
SuBpledr 15.0L.ET-8 DHBH Bulevngi?

a. 60 b. 40 c. 80 d. 30

Find the smallest number which is exactly divisible by all the numbers
from1to9.

1 @Umba 9  euedIUlelen  DIMIHFH  6IeIH6eNTeVID  UGUGBD  WsFFnslwl
CTERTENCNTED ST .

a. 2500 b. 2520 c. 2570 d. 2580

The product of 2 two digit numbers is 300 and their HCF is 5. What are
the numbers?

Byewi® Fflevdd eemibeflear GUmBEBLIVET 300 wBEBID SeuBpler 15.0U.&T. 5
6Ta0N6Y, SII0RIGIBIHET WITen6?

a. 30, 10 b. 15, 20 c. 5,60 d. 15, 30

Wilson, Mathan and Guna can complete one round of a circular track in
10, 15 and 20 minutes respectively. If they start together at 7 a.m from the
starting point, at what time will they meet together again at the starting
point?

60T, DFHET OBWID GHewim HCWTT @ UL eugeleomer @BHLTENSHUN6H
@m amenp (wopGw 10, 15 wB@mb 20 HbLmseied &Bpl  (WYsHSEIBeT].
SluHer  QHTLESL  LeiTeflulled smemev 7 wewld@G QOIBTEF  HBBSH
OHTLmISe0, Sleufdel WewiBD 61IGUTH  OFHTLEHSL  LsiTelluled eaiIBTHs
FhHLILITTEH6IT.

a.7.30 am b. 8 am c. 8.30 am d.9am

Find the length of the longest rope that can be used to measure exactly the
ropes of length 1m, 20cm, 3m 60cm and 4m.

118 20 Qga8, 3 15 60 Q.15 wBBID 4 15 SenaBmend GdTemiL  HulpiHerer
HOTRIGMETE FHWTS DleNhHL LWSILGLD SUIBBeT DIHSULF HerD 6163160 ?
a. 60 cm b. 120 cm c. 40 cm d. 400 cm

The LCM of two numbers is 6 times their HCF. If the HCF is 12 and one

of the numbers is 36, then find the other number.
Om elewidmemear 5.F.0 el  15.0L.BT-@l6T 6  IDLBISTG)LD. 15.6u.sT 12
LOBMILD @ 6Tewl 36 6leie0, LOBEBTT ocT6wTeN6NIS SHTEWIS.

a. 12 b. 36 c.48 d. 24

Find the HCF and the LCM of the numbers 154, 198 and 286.
154, 198 1oB@ID 286 &I 616WIHEDHGHE L5.0U.ST WwBHID L6.4.10. SHTewIs.

PH: 044-24 0436. 4286 0840




a. 11, 18000 b. 44, 18100 c.22,18018 d. 44, 18180

The traffic lights at three different road junctions change after every 40
seconds, 60 seconds and 72 seconds respectively. If they changed
simultaneously together at 8 a.m at the junctions, at what time will they
simultaneously change together again?

epaiipl CuTed@GaTSHad FhFHlILsaied o eilen GBFFe0 allend@GH6T e6elbeuTaTMID
wempBuw 40  alpTgsefled, 60 alpTgsefeo BLID 72 albTgHerlled
QeMJHIOIBeT.  SIGIANTSHGHHET DIMAHHID HTmeL 8 LaNSHGF FhHHILILH6T60
RAMTH QeNMJHFHe 6TeN60, WewiB Sjever 6ILICLTH Q&IBTH e6r(HLD?

a. 8.03 a.m b. 8.04 a.m c.8.05a.m d. 8.06 a.m

The LCM of two numbers is 210 and their HCF is 14. How many such

pairs are possible?

B elewisefer 15.8.0 210 wBpd 16.0U.&ST 14 eleIBIETOTEUTH 615 3H6N60T
TewTB&FMQH6IT FTHHUWIDTGLD?

a. 3 pairs b. 4 pairs c. 1 pairs d. 2 pairs

Find the smallest number that can be divided by 254 and 508 which leaves

the remainder 4.
254 1o@BmIb 508 Elul  eTemIBeNTeY  UGHHGWOUTH  BHwTH  4-25 SH(HD
WSFFNIUI  6TeT6N60TE  SHT60I5.

a. 1016 b. 512 c. 932 d. 516

Find the ratio of the HCF and the LCM of the numbers 18 and 30.
18 wBmb 30 P elewiseler 15.CU.ST B@ID B.48.0-ale  aldHHHmHsH
BHIT6ITDH.

a.2:15 b.2:7 c.1:15 d.1:5

Find H.C.F of 396, 504, 636

15.0um.eu srewiss 396, 504, 636

a.12 b. 16 c.8
Solution:

2/396,504,636

2/198,252,318
399,126,159

33,42,53
H.C.F=2x2x3 =12

Find GCD of
B.0ur.eu smemiss  2x2 -18 and x2 -2x -3

PH: 044-24 0436




a. (x-2) b. (x - 3) C. 2x2
Solution:
2x2-18=2(x2-9)=2(x-3) (x + 3)
x2-2x-3=(x-3)(x+1)
~ HCF=(x-23)

Find the greatest number consisting of 6 digits which is exactly divisible
by 24, 15, 36?
24, 15, 36 o eamsenTed LBHUISNS  uGUBL WsLOUTwW  pflevds
CTEIENEMIE  SHITENIE.
a. 999920 b. 999820 c. 999720 d. 999620
Solution:
Factors of 24 =2 x2 x2 x3 = 23x3
Factors of 15 =3x5
Factors of 36 =2 x2 x3 x3 = 22x32
- L.C.M of (24, 15 & 36) = 8 x9 x5 =360
The greatest 6 digit number is 999999.

Let us divide the greatest 6 digit number by L.C.M of (24, 15 and 36)
. 999999
ie.

360
Remainder is 279

2999999 - 279 = 999720

The HCF of two numbers is 2 and their LCM is 154. If the difference
between the numbers is 8, then the sum is
& eewidefler 15.0u.sT 2  1oB@ID  SeuBpler W6.H.0 154 Sleuail(m
aTewT B EhSHHenL_ G o eiten Coupim@® 8 eTedlled, SjuBNleT Fn(HHeL
a. 26 b. 36 c. 46 d. 56
Solution:
Let the numbers be a and b
a-b=8
a=8+b
HCF x LCM=ax b
2x154=8+b)xb
308=80b+ b2
= b+22)(b-14)=0
= b=14
La=8+14=22
Required sum =22 + 14 =36

What is the smallest 5 digit number that is exactly divisible by 72 and 108?

PH: 044-24 0436. 4286 0840




72 oBmId 108 oLl elewiHenTed FHWTS UGULSIIQW WISFFBIW 5 Devds
6T600T 61601601 ?

a. 10,152 b. 10,162 c. 10,252 d. 10,250

Solution:

Smallest 5 digit number = 10000

272108
236,54
18,27
36.9

2,3

LCM = 2x2x3x3x2x3 = 216
46

216/10000
864
1360
1296
64
Now, 216 - 64 =152
-~ 10000 + 152 = 10,152

L.C.M & H.C.F WORK SHEET ANSWER KEY
1 12 3 4 |5 6 |7 8 9 |10

D B D D A D C |C D D
11 |12 |13 |14 |15 16 |17 |18 |19 |20
Cc A CD|C B B B C D
21 25 |26 |27 29 130




